
Математик
а



Вычислите

8-4   4+3   7-4    5-4   4+2
10-4   4+5   9-4   4-4  4+6



Какие числа закрыты?



Сколько можно выбрать:

5
3

8



Как составлена таблица?



Состав чисел



  1   +   5   =

  2   +   5   =

  3   +   5   =

  4   +   5   =

  5   +   5   =

6
7
8
9

1  0

  1   +   6   =

  2   +   6    =

  3   +   6    =

  4  +   6    =

7
8

9
1  0

  1  +   7    =

  2  +   7    =

  3  +   7    =

  1   +   8   =

 2    +   8   =

  1   +   9    =8

9
1  0

9
1  0
1  0

  Задача № 2.
I  -
II-

5 п.
4 п.

?п.



Ответ:  9 примеров всего.

  Задача 3.
I -
II -  1 0 см

 7 см
  на ? см больше?

 1    0    -    7   =   3   (см)

  Ответ:  на 3 см больше.

 5    +    4   =   9   (п.)


